({INVOICE.INV_DT} in {?Enter Start Date} to {?Enter End Date} and
{INVDET.INVDTYP_MSTRSST} in ["¢", "i"] and
(Mid ({INVDET.INVD_PART_NO},5,4) = "it3" or
Mid ({INVDET.INVD_PART_NO},5,4) = "liu3" or
Mid ({INVDET.INVD_PART_NO},5,4) = "liv3" or
Mid ({INVDET.INVD_PART_NO},5,4) = "li03" or
Mid ({INVDET.INVD_PART_NO},5,4) = "liwi" or
Mid ({INVDET.INVD_PART_NO},5,4) = "lat3" or
Mid ({INVDET.INVD_PART_NO},5,4) = "lau3" or
Mid ({INVDET.INVD_PART_NO},5,4) = "lav3" or
Mid ({INVDET.INVD_PART_NO},5,4) = "lao3" or
Mid ({INVDET.INVD_PART_NO},5,4) = "lawi" or
Mid ({INVDET.INVD_PART_NO},5,4) = "lico"))



if Mid ({INVDET.INVD_PART_NO},7,2) = '03' and {INVDET.INVDTYP_MSTRSST)="¢"
and totext({INVOICE.INV_DT},'yyyyMMdd") > '20040930' then

((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO0},9,1)) - 1)))/

(40000 + (25000 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))

* {INVDET.INVD_COST_EXT} *{EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) = '03'

and totext({INVOICE.INV_DT},'yyyyMMdd'") > '20040930' then

((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))

(40000 + (25000 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))

* {INVDET.INVD_COST_EXT} *{EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) in ['u3','v3] and {INVDET.INVDTYP_MSTRSST}="c"
and totext({INVOICE.INV_DT},'yyyyMMdd') > '20040930' then

((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))/

(50000 + (27500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))

* {INVDET.INVD_COST_EXT} *{EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) in ['u3','v3']

and totext({INVOICE.INV_DT},'yyyyMMdd') > '20040930' then

((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))/

(50000 + (27500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))

* {INVDET.INVD_COST_EXT} *{EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) = 't3' and {INVDET.INVDTYP_MSTRSST}="¢"
and totext({INVOICE.INV_DT},'yyyyMMdd') > '20040930' then

((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1)))/

(60000 + (30000 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))

* {INVDET.INVD_COST_EXT} *{(EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) = 't3’

and totext({INVOICE.INV_DT},'yyyyMMdd') > '20040930' then

((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1)))/

(60000 + (30000 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))

* {INVDET.INVD_COST_EXT} {EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) = '03' and {INVDET.INVDTYP_MSTRSST}="c" then
((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1)))/

(30000 + (20000 * (tonumber(mid({INVDET.INVD_PART_NO},8,1)) - 1))))

* {INVDET.INVD_COST_EXT} {EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) = '03' then

({10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1)))/

(30000 + (20000 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))

* {INVDET.INVD_COST_EXT} *{EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) in ['u3','v3 and {INVDET.INVDTYP_MSTRSST}="c" then
((10000 + {2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1)))/

(40000 + (22500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))

* {INVDET.INVD_COST_EXT} *(EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) in [u3','v3'] then

((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1)))/

(40000 + (22500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))

* {INVDET.INVD_COST_EXT} *{EXCHANGE_RATE.EXCHANGE_RATE}

else

if Mid ({INVDET.INVD_PART_NO},7,2) = 't3' and {INVDET.INVDTYP_MSTRSST}="c" then
((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))/



(50000 + (25000 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))
* {INVDET.INVD_COST_EXT} *{EXCHANGE_RATE.EXCHANGE_RATE}
else

if Mid ({INVDET.INVD_PART_NO},7,2) ='t3' then

((10000 + (2500 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1)))/
(50000 + (25000 * (tonumber(mid({INVDET.INVD_PART_NO},9,1)) - 1))))
* {INVDET.INVD_COST_EXT} *{EXCHANGE_RATE.EXCHANGE_RATE}
else

if INVDET.INVDTYP_MSTRSST}="c" then
{INVDET.INVD_COST_EXT}*{EXCHANGE_RATE.EXCHANGE_RATE} else
{INVDET.INVD_COST_EXT}*{EXCHANGE_RATE.EXCHANGE_RATE}



